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n1InAaasgu (Random Experiment)
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U3nan0e19 (Sample space): S
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wan15ed (Event) : E
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Classical Probability
Frequency Probability

Subjective Probability
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Uszmmamwmmﬁmaaaauuﬂa
S= {HH,HT,TH,TT} muu n(S)=4
mqmsaﬁﬁau"laﬁa E ={HT,TH}

Faty n(E)=2
P(E) = n(E)/n(S) =2/4 =0.5
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n(e) 10
n(S) 45
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A21UUNLLT LU Frequency Probability
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av1uU19z uluy Subjective Probability
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ANAIANUNTEY (Expectation)
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ANAIANNIE (Expectation) : E(X)
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1% X unuNanauuNY feuy
X =-80, 2,000
P(X=-80) = 99/100
P(X=2,000) = 1/100
E(X) = -80(99/100)+2,000(1/100)=-59.2
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X =-80, 1,920
P(X=-80) = 99/100
P(X=1,920) = 1/100

A T
ﬂ//\ .

i bl ':.._"' . f" ,n?

TN




NISLANLAIUNA

Tagsaludndideyadiuauuin daiun
JaiFuudaznudn deyaiidiAuinwie
Hosazfisruulainn drudeyanfiaiu
nane azfisruauann Wethumdannsw

LAIASNUIN SUANWULAAYTLAIAI

r-.—/-'r :.1 0 =
4 /. \ » | o
5 ‘ ek P A H.
)= — " J .4-"‘\ .‘r..,\”'v - <




0.13%

12.5%
—— 68%
2.15%
———— 958, —————~
= 99.7%
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NISLINUIIUNANINTFIU
(Standard normal distribution)
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NISLINUIIUNANINTFIU
(Standard normal distribution)
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NISLINUIIUNANINTFIU
(Standard normal distribution)
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NISLINUIIUNANINTFIU

(Standard normal distribution)
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P(0<Z<1.23) = 0.3907

P(Z>1.23) = 0.5-0.3907= 0.1093
P(Z<-1.23) = 0.5-0.3907= 0.1093




NISLINUIIUNANINTFIU

(Standard normal distribution)

N29819
P(-2.5<Z<-1.5) = 0.4938-0.4332=0.0606
P(Z>c) = 0.025,c = 1.96
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T X Wuazuuuaauvasinfing
u=60 O0=10
#1 P(X>50) = P(Z>-1)
= 0.3413+0.5
= 0.8413
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P(X<45) = P(Z<-1.5) = 0.5-0.4332
= 0.0668
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P(0<Z<1.28) = 0.40
o 31060 -128 a =728
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2% X unuegnsldauveuniasiium
e P(X<18)
muu P(X<18) = P(Z<-2. 5) 0.0062
faruiaiasRiuanazdenauun = 1500x 0.0062
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